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Attempt all questions.
All questions carry equal marks.

w5t e F |
T wet & s e ¥

1. (a) Whatis Tax Planning ? How does it differ
from tax management ? 5

(b} Mr. A is engaged in business of civil
construction. His gross receipts from such
business is ¥ 45 lakh during the previous
year 2010-11. He wants to pay tax on his
income assuming the income @ 8% of
gross receipts u/s 44 AD. Further against
such income he wants to claim depreciation
@ 15% on Plant and Machinery W.D.V.
T 15 lakh on 1-4-2010 which he used for
the aforesaid business. Find out his income
assessable under the head “Profits and
Gains of Business or Profession and
W.D.V. of Plant & Machinery on 1-4-2011. 5
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(c) From the following determine the amount
deductible v/s 10 A and assessable income
for assessment year 2010-11 and
assessment year 2011-12 -

Previous Previous
year year

2009-10 2010-11
L4 T
Export turnover 12,00,000  18,00,000
Total turnover 20,00,000  30,00,000

Profit/Loss () 2,00,000 (+) 3,00,000
5
(%) & AE F B & 7 ST 96w
TR R0

(@) et A foiae ot & emm d smgan ¥
t8 =aa” ¥ 3TH wwer uiadr fes o
2010-11 H T 45 9rg of ) 9g 9”7 44 AD %
AR W FHA Wiaat ot 8% F g0 ¥ ey
WA A I W HT A A ¥ f
UHft AT W FE 15% W T/ WA 3 el
W B8 F W B G ¥ R
WDV 1-4-2010 &t T 15 @ ¥ fos 3@
ST ST 3 ferd Wb ferm en 1142011
i AT IUAT WHET F At ot wfwgi 4
YT T T WIAEE B WDV, ¥ 3 Pl .
M FA HFAT |
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(), Prefefan sEl @ i 10A ¥ ol

(a)

(b)

sEFEE T aen Fule =9 2010-11 @0
freizor 99 2011-12 & fAu e ama fruifa
T

foaay  fiodad
2009-10 % 201011 ®

4 4
et amed 12,00,000  18,00,000
Fed AEd 20,00,000  30,00,000
TANI/ATA (+) 2,00,000 (+)'3,00,000

OR/3gar

Distinguish between an Indian Company
and a Foreign Company.

From the following information compute
the tax (payable by A Lid. for the
assessment vear 2011-12 -

1. Business income froﬁ1 sale
of securities ~ 17.,00,000

2. l.ong term capital gains - 8,060,000

3. Business income from cold
chain facility for agriculture
produce (commenced In -
2003-3004) - 20,00,000

b, Security transaction tax paid
(not deducted from business
income) ~ 3,60,000
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(c)

()
@)

[Q)

‘A’, a member of the West Indian Cricket
team. received a sum of ¥ 10 lakh for
participation in matches in India. He also
reccived a sum of T 2 lakh in India for
endorsing a product on T. V He contributed
articles in an Indian newspaper for which
he received ¥ 20,000. During the tour of
India he won a prize of T 10,000 in horse
race. What will be his tax lability for the
Assessment Year 2011-12 7

AT 1 3T oy St | siar Sare |
friefaa gamen & s w A fofiee &
Fraftor ad 2011-12 % o0 2g.9¢ = arfyerfer
HIfAT
4

1. afmgfers it fasnt |

s -~ 17,00,000
2. Ztaty i@ emy ~  8,00,000
3 a3 % e Hieg 39

fern § Fautas 3y

(2003-2004 B 3T %) "~ 20,00.000

4. yfefa &390 T srriwa

(STEUE H 7T W § Fy .

Tt fopm ) - 3.00,000
‘A’ S A TheET frde dn w weE R,
g 0 &4 d 5 ot F o 710 o e
T ) 3U Al W RS A U 3o awed
FH & AU T 2 o WG U | IHd 9 ¥
TR T H o fod Sk e 3% 720,000
W §U | MR 1 9RO %3 % SR gg.atg §
IF T 10,000 H R S | Frafor o
2011-12 % AT 3wmes e ifge = & 0

at
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(a) Explain the tax planning provisions in
respect of infrastructure facility.

(b)y From

the following information compute

the tax payable by A & Co. keeping in view
the provisions of MAT w/s 115 JB for the
assessment year 2011-12 ¢

(1) Profit & Loss Account
Particulars T Particulars ¥
Expenses related| 7,20,000|Export sales w/s| 15,00,000
to export sales 10 A
Expenses related|16,00,000( Other sales 15,00,000
to other sales
Securities 3,000 [LTCG 2,00,000
transaction  tax . (exempted u/s
paid refating to 10(38))
LTCG
Depreciation t,50,000 | Interest on Gowvt. 25,000
Securities
Proposed 2,52,000|
dividend
Income tax [,00,000
Net Profit 4,00,000
32,25,000 32,25,000
(2) The company revalued its assets from
2.3,00,000 to ¥ 6,00,000 and provided
depreciation on ¥ 6,00,000 @ 25% of
the Depreciation allowable under the
income {ax act is ¥ 80,000.
(3) B/F loss of business as per books of
account ¥ 2,00,000.
(4) B/F depreciation as per books of
accounts ¥ 50,000.
(5) B/F unabsorbed depreciation
¥ 1,00,000. '
(6) The company received export

turnover u/s 10 A ¥ 15,00,000 in
India in convertible forcign exchange
with in prescribed time.
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Iﬁﬁ%ggraﬂﬁﬁxﬁwa'aﬁﬁﬂq:
(h M 3T &I S
- |fEETm |t z
P Rt 2 7,20,000 | 4T 10A & 15,00,000
T Te Feria frate fam
:;?ﬁa F‘““:é T 116,00,000| arer fig 15,00,000
LTCG ¥ wHefwe LTCG (4mr
fefe -89 & 10/38 ¥ afenta
3T fof T 3,000(%2 3t %) 2,00,000
] 1,50,000 | w7y sfirgferat
s e | 2.52.0000 0 25,000
AT 1,00,000
e o 4,00,000
32,25,000 32,25,000

a610

(F) il G & gfe § *T s gad
Baa@naﬁﬁaq_r@rﬁﬁq]

)

Frefefad et & smuw o A wE ar

B % &Y W, Fier ad 201112 & feo
115 JB & 3feid MAT &t sTaenai 5t v §

(2) % mqﬁmﬁa}w ERCIS e
F X 3,00,000 & T 6,00,000 X fear
s ¢ 6,00,000 9T 3t Rty %
ST TR gedwrE A T 80,000 4
IEH 25% R A gogerd F ATen

i |
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(a)

(b
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(3) wmafedi ¥ @R T 2,00,000 @
ST B S fopar T

(4) durai & oy T 50,000 %
WHETE i TG oA Ty |

(5) T 1,00,000 SFEviNG e i
EroinicRcmikicil

(6) it W Prife @ & et uRa |
v 10 A % o fram R @
¥ 15,00,000 uiEdi fageit qer oy
qU

OR/arar

The business profit of a firm after paying (i)
interest to partners X ¥ 1,60,000 and Y
T 2,00,000 at the prescribed rate w's 40(b)
and (ii) remuneration to X ¥ 5.20,000 and to
Y T 4.80,000; ¥ 8,00,000. The firm is
entitled to deduction from its gross total
income @ 100% of the profit of business
ws 80 IB. From the tax point of view
suggest o the firm whether the firm should

pay interest and remuneration to the
pariners or not.

. !
What is ‘bonus share’ ? How can a
sharcholder  reduce his, tax. liability
regarding benus shares ?



(%)

(@),

(@)

(b)

9670 .

Th WH B FFdE d T 8,00,000 & @M

Frefeiiae =t ot # & arg gan -

(i)  uT 40(b) & Sianta fafid 27§ wmierr x
H T 1,60,000 3T Y B T 2,00,000
=1 fam ey |

(i) X ® T 520,000 3 Y Ht T 4,80,000
it fear mar |
w5 4RI 80 1B ¥ MER @agE o any
F100% H WA [ W T F Q
FATHET HT WHhA & | X Hl efie § wrt
B gEE W B w ¥ ariert w
& S Mt S e ar = o

SH TR R B & 0 S ey weer A

gt ¥ FaEled 9 7 g W B W T

&2

What are the factors 1o be considered while

making a leas¢ or buy decision ? When a

leasing be preferred over purchase ?

Mr. H has received offer from companies of
Delhi for services as under

A B
4 4
Basic salary 10,00,000 6,000,000
HRA - 96,000
Travelling  expenses - 19,200
(For coming to office
from residence and
back)
Contribution to - 2,40,000
approved
superannuation fund
by the employer
- Mobile phone 44,800

10,00,000 10,00,000

- 9. ‘ P.T.O.
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(®)

Other Informations are :

(1) His qualifying saving u/s 80 C will be
7 50,000.

(2) He will pay house rent 6,500 p.m.

(3) He needs a mobile phone for private
purpose.

Which offer should he accept and why ?

o w2 A I H T F & R

S F e i T Ak Gl o we

o T S A e € 2
firer H ) eoeh 3 dufrdl @ 3o qanet &
ot Frefafiaa e i 1 9 €

A B

4 4
et aH 10,00,000  6,00,000
e feran ~ 96,000 _
I AL -~ 19,200
(& | TER A
A & fo
Praten @ @S
aiftrad Foofir d e - 2,40,000
HaEd B - 44 800

10,00,000 10,00,000

(1) uw 80 C & ¥imiq IWH e a9

7 50,000 ghft |
(2) @& ¥ 6,500 Wi 7E 6T H FHTA  A
3y =@ B #d & fe qERA B &
HTTALAHA & | .
E@WWW@WMWW
' QR/3raat

10
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(a) From the following information determine
whether the assessee should purchase an
asset or take on lease :

1.

2.
3.
4

o

8.

Cost of Asset T 2,00,000
Rate of Interest 10%
Rate of Depreciation 15%

Repayment of loan by the assessee
< 40,000 p.a.

Rate of tax 30.9%

Residual value ¥ 40,000 after five
years

Profit of the assessee ¥ 2,00,000 before
depreciation, interest and tax / before
lease rent and tax

Lease rent T 60,000 p.a. 10

(b) Write a note on slump sale. 5
(@ Freffe gaet & iR aifme i Srife
! aiwai e ey a1 0 W) A e

l.

2.
3.
4

Lh

8.

ufrdafa & & 2 2,00,000
AT 10%
THBR-3T 15%

Pttt g o ) arrd T 40,000 wfy
G}

T T 30.9%
U &Y AR SN 794 T 40,000

Fraiftett 1 goagm, =t ot #/ @
Fortra 3 =/ q& @ 2 2,00,000

vzt feman 7 60,000 wi a9

(@) TRt fant ot feomht T

1 P.T.O.
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(a)

(b)

()

@)

A owns a block of Assets (consisting of
plants X and Y and depreciation rate 15%).
On 1% April, 2010, WDV of block of Assets
is T 20,80,000. On 7" July, 2010, block of
assets is transferred to B by A in a scheme
of amalgamation for ¥ 61,40,000. Find out

- tax consequences in the following 2 cases.

—  Ais an amalgamating company and B
is an Indian amalgamated company
and the block of assets is transferred
by A to B i scheme of
amalgamation. B does‘not own any
other asset. :

- B is a foreign company (assume in
the aforesaid case)

What is advance ruling ? Discuss the

procedure to be followed by the Authority

for Advance Ruling when an application is
ficld before it.

A Tiraal & waE o afes & (e X e
Y wdy ¥ W e o 15% §) 11 o
2010 # wiEefaal % @ wgE W WDV
7 20,80,000 ¥ 1 7 o2 2010 = 37 afcdutaai
F A A B WH TEWA AN & aed
Z 61,40,000 & siafa = R 1 Frafataa o
HH o & gagr ufomEl ® FF SR
~ A UF mudfem T § AR B UF YRAd
FHHE i A F AU W A B B H
Aa WM& 1 B F TH FE I3
ufeute gl & o
— B U fauel O (ST H H AR g) |
a1t fafola = gien & ¢ atfusrd gro s
W A utEm W fgaew e w9 wE
AT IAF WG A ST § b
OR/araat
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(a)
(b)

)
(%)

Explain the meanmg of ‘Arm s Length
Price.”

Mr. A is resident in India. The following -

points are noted for the previous year
2010-11 from the books of acGount :

Income from business in India () 4,00,000
Income {rom business in 10,00,000
couniry X

(India does not have DTA

agreement with country X)

Income from other sources in 40,000
India

(Interest on Govt. Securities)

PPF contribution 80,000
Tax levied in country X 1,80,000

Compute the amount of Income Tax

payable in India for the assessment year
2011-12.

HITT i TTIEH H 37 T |
et A, Yma w1 aErd &) sus @

froet a9 2010-11 % foau Fefafaa @i 5
:ﬁEﬁ?QTW:

WE T e @ s (~) 4,00,000
X ¥ H TIEE ¥ s 10,00,000
(X X % WY YA w7 DTA

I TR 8)

e ¥ 3= A § e 40,000
(weE sfavferat W)

PP ® arRH 80,000
X &9 o Y 1,80,000
Preiror & 201112 & Fotw W 2 ot
=t e 1 Ao ifar |

13 P.T.O.
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5. (a) Briefly explain the provisions of section:
91 of Income Tax Act relating to avoidance
of double taxation. 5

(b) A Ltd. a company engaged in manufacture
of electrical switches is a widely held
company. It is considering a major
expansion of its production facility and
import of latest technology which is
expected to improve its profitability from
the present rate of 20%.to at least 25%
(before tax). The finance manager has given
the following proposals :

(X in lakh)

A B C D
Share capital (equity) 80 40 60 100
14% Pref. shares 40 40 - 20

16% non-convertible
debenture ) - 40 - - 80

Term loans from
institutions & Banks

(20%) - 80 140 -
Lease finance (22%) 80 - - —

200 200 200 200 10

(I} The rate of dividend on equity has not
been below 24% in the past.

(2) The tax rate faced by the company is
33.99%. Your opinion with detailed
reasons is sought on the above.

9610 : 14



(F) R FUE W T F v s afufy o
URT 91 ® ) TR =aenHt = gy § smen
Hifaw |

(@ A falies T st froett & Rt % fmfo
Heri gd & | 7 o e telt gf S ¥
T F A IR glewr ¥ 9 o wr
foer 3 et eyttt w1 e
FH W fTar &2 @ & fad 3w anrerfaear
AT T 20% B T W FT T BH 25%
@ ) B F o ¥ foeim weww 3
Fefefer e ko & -

(% Trat o)
A B C D

R oA (3l 80 40 60 100
14% aTet 3ifam v 40 40 - 20

. 16% Tt rafrad=ig

fear - 40 - 80
Heraf oY o |

ST F1 (20%) -~ 80 140 -
g 0T [ (22%) 80 - -

200 200 200 200

(1) st av o T fam § 24% @ AR
T @

(2) O F B 33.99% H FHAT FE

TE | 3T o W et 1, Favga wy
EESTU R G : LIR

OR/3rerar
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(a) Discuss the tax implications in case of
conversion of a private Ltd company or an
unlisted public company into a Limited
Liability Partnership (LLLP). ' 8

(b} Discuss the main points of tax planning in
respect of employee’s remuneration. 7

@ UF W fefies &l amEr uw g
AR St @ difve ofae wiERE (LLP)
A gge & & 9] &l faae S

@) wEr witiie & dEy 4 w7 AR &
fagail = fersrer ST
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